1. Determine whether or not the sequence {a,} converges, and find the limit if it does converge.

(a) an = 2%
) , 0
Converges To .
- T

(b) an = 10 — (0.99)™.
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2. Determine whether each infinite series converges or diverges. C early state which test you are using and

show all work.
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3. Find the interval of convergence of each of the power series. Clearly state which test you are using and

show all work.
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o0

= Z z" for {z] < 1to find a power series representation for In{l —z}. Explain

n==(

4. {a) Use the fact that : 1
el

your answer thoroughly.
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(b} How many terms of the series Z ( n‘} do we need to add in order to find the sum to an accuracy of
A=l :

terror| < 0.3. Explain your answer thoroughly.
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(¢) Let {F,} be the Fibonacci sequence defined as F; = 1, F» =1 and Fnu1 = Fno1 + F,. Show that
F, < 2" for all n.
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